EARAROBEEIERT — 2 N— IBISH —F

2013511811 (A) 9mlIliz1 A

LY s Deasor]l  (hR@E) Y R2%& EE e
[A&4£] 1 7% :5,000,000 @ 23 :1,750,000 § 3 3 :900,000 4 % :500,000 @ . 5 7 :350,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
*%: . _A—R— — 7 E} =)
il vamsz710n H o2 §§f16+ 1.(4_4).1 5-4-6-3 | 41.5 6 | 485 gﬁ*g_( 18)
RiAAYagf—5— BAHVETLHRAR (-3) chit HER
_ . SEER .44, 60—, . — EREZERE (J108)
) NESS D B2 o 1(424)5 9-6-9-4 |41.5 7 (4_551) el
L:xF1=FGr7—X B:T4I7MNITLAE BEAR XE
. e — Fi5EL : ~7-6- - EEEZ (M)
3 o | KA IALTF 1 i 2 o 1.(135).1 6-7-6-5 | 42.4 1 (5::)) oo
R:EAF T A — BRAINZTIFL oK EER
3 A : -1-1- — LA (HA1E)
4 4| va%E o2 L 1.(425).5 1-1-1-1 | 43.1 9 (4_657) iﬁfz; A
R:YIRG4 952 B:T7ETEY b 75 Kis
PR EBH 145, -3-4- . — NARE (TN
slglif| 771v—7u>2 o2 k& 1(425)9 3-3-4-2 | 43.5 5 422;) émaﬁ
LA T7AT7 BLRAFq7aAR 4 DDA
. IBEX :45. -11-10- . = AR (1)
5 R EANZ 42 = 1(/4:5*? 10-11-10-8 | 42.5 3 (4+816) A
R:ZRXpwR BRCFaH-—I B 5
. 1Ly R : —12-11- — RAEME (11E)
77l g FH—-7Y o2 s 1(74?:? 12-12-11-7 | 42.2 10 (i?é) ‘ékﬂ‘;
RiRARNTYT BT T RS
IS f 2 | EEERA 1:47.0 1-10-12-9 | 43.4 | — 12 | 430 |#EFHEE (%)
8|5[6|/YFFY 54.0 (5) o | H-z7
R:Z27)—-re—A0—- B:O-5>Y=— TTERIS
o o= BEHB 147, -5-8- . — EAE ()11
9 g| Ky KT o2 o 1 (417) 2 4-5-8-12 | 44.5 8 (i?g) T\}IIEE&&
L:¥rsn7AA B:IRT7IVF%H HR= All%E
8 S i@ 4 o2 | BBXE 1:47.7 8-8-1-6 | 45.3| — 2 512 | RERESE (/11E)
10 10| 7 V=1 ~/¥L' 2 85.0 2 172 vy | B) Fu=7x2
R:TUHAZXIL K B:vIHNTF R =ER77— L4
> s, s 2 | FHEE 1:48.0 2-2-5-11 | 45.6 | — 11 410 | /NE—BR (AEF)
11)5|5| > rh+3 54.0 (11/2) © | @R FarFq7 - xy—
R/ RS vy T BAAIT7yvT LT« ELvie]
SIERS s 2 | WKL 1:48.0 7-9-1-9 | 45.6 | — 4 a5 | BfER (AtiEE)
12/ 8| 12| 1YV ¥ > 5.0 (7€) Gy |BEEE
LixfagR—-5— B:UTINY—7 T ERtE
® I —F—EBIERL
13=7r= 4,5,11,8,1,2,12,10,3,7,6,9
Aol=5r= 4,5,11,1,8,3,2,10,12,6,7,9
30—7+— (4,10,12) ,11,5,(1,2),8,3,7,9,6
A== — 4,11,1,3,2,10,9,7,(6,12) ,5,8
[ RN
BB 1 1,520 714K 1-3 2,390 e & 1-3 10,900M &R 1-2-3 4,940
7 B 1 300/ 1-2 720/ | | #E 1-3 20,570/ | | 3:=E 1-3-2 54,670
3 430M 2-3 1,020H B E 1-3 9,730M
2 1609 B H 1=3 18,180M

ABICOVWTRDTEEERROODE. TR LIV,




